
SAP ABAP table PMEFD {}

PMEFD

BUKRS [CHAR (4)]

WERKS [CHAR (4)]

BTRTL [CHAR (4)]

PERSG [CHAR (1)]

PERSK [CHAR (2)]

MOLGA [CHAR (2)]

MASSN [CHAR (2)]

MASSG [CHAR (2)]

STELL [NUMC (8)]

ANSVH [CHAR (2)]

ORGEH [NUMC (8)]

PLANS [NUMC (8)]

KOSTL [CHAR (10)]

CTTYP [CHAR (2)]

TRFAR [CHAR (2)]

TRFGB [CHAR (2)]

REGSS [CHAR (4)]

REGAC [CHAR (4)]

REGRT [CHAR (4)]

REGNO [CHAR (4)]

ZTERF [NUMC (1)]

CPPSD [CHAR (4)]

PSSTT [CHAR (2)]

PSADM [CHAR (4)]

ORGAN [CHAR (4)]

CORPS [CHAR (4)]

GRADE [CHAR (4)]

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 PMEFD-BUKRS = T001-BUKRS 
0..N

0..N

T500L

MOLGA [CHAR (2)]

 PMEFD-MOLGA = T500L-MOLGA 
0..N

0..N

T510A

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

TRFAR [CHAR (2)]

 PMEFD-TRFAR = T510A-TRFAR 
0..N

0..N

T510G

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

TRFGB [CHAR (2)]

 PMEFD-TRFGB = T510G-TRFGB 
0..N

0..N

T513

MANDT [CLNT (3)]

STELL [NUMC (8)]

ENDDA [DATS (8)]

 PMEFD-STELL = T513-STELL 
0..N

0..N

T528B

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

PLANS [NUMC (8)]

ENDDA [DATS (8)]

 PMEFD-PLANS = T528B-PLANS 
0..N

0..N

T529A

MANDT [CLNT (3)]

MASSN [CHAR (2)]

 PMEFD-MASSN = T529A-MASSN 
0..N

0..N

T530

MANDT [CLNT (3)]

MASSN [CHAR (2)]

MASSG [CHAR (2)]
 PMEFD-MASSG = T530-MASSG 0..N

0..N

T542A

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

ANSVH [CHAR (2)]
 PMEFD-ANSVH = T542A-ANSVH 0..N

0..N
T547V

MANDT [CLNT (3)]

CTTYP [CHAR (2)]

 PMEFD-CTTYP = T547V-CTTYP 
0..N0..N

T555U

MANDT [CLNT (3)]

ZTERF [NUMC (1)]

 PMEFD-ZTERF = T555U-ZTERF 

0..N

0..N

T591A

MANDT [CLNT (3)]

INFTY [CHAR (4)]

SUBTY [CHAR (4)]

 PMEFD-CPPSD = T591A-SUBTY 

0..N

1

T5F1I

MANDT [CLNT (3)]

REGNO [CHAR (4)]

 PMEFD-REGAC = T5F1I-REGNO 

0..N

1

 PMEFD-REGNO = T5F1I-REGNO 

0..N

0..N

 PMEFD-REGRT = T5F1I-REGNO 

0..N

0..N

 PMEFD-REGSS = T5F1I-REGNO 

0..N

0..N

T5FPBS0S

MANDT [CLNT (3)]

CORGN [CHAR (4)]

 PMEFD-ORGAN = T5FPBS0S-CORGN 

0..N

0..N

T5FPBS1A

MANDT [CLNT (3)]

PSSTT [CHAR (2)]

PSADM [CHAR (4)]

 PMEFD-PSADM = T5FPBS1A-PSADM 

0..N

0..N

T5FPBS1S

MANDT [CLNT (3)]

PSSTT [CHAR (2)]

 PMEFD-PSSTT = T5FPBS1S-PSSTT 

0..N

0..N


